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Section 3-2
Solving Inequalities Using
Addition and Subtraction

In a US Presidential election race, a candidate
needs 270 out of 538 total electoral votes to
win. If a candidate has already gotten 238
outside of the southeastern US, what is the
least number of states that he could win and
still become president? What are they?
Justify.

@Electoral Votes

We will solve inequalities using properties of
inequalities.

Addition Property of Inequality
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https://www.google.com/search?q=southeastern+us+electoral+college+votes+map&espv=210&es_sm=93&tbm=isch&tbo=u&source=univ&sa=X&ei=g4duUpWpOvDeyAG28oHQCw&ved=0CCkQsAQ&biw=1280&bih=699#facrc=_&imgdii=_&imgrc=fz61pyi6wTMiEM%3A%3BxjPnlWkHIFlp-M%3Bhttp%253A%252F%252Fwww.netstate.com%252Fstates%252Fmaps%252Fimages%252Fusa_electoral_votes04-08.gif%3Bhttp%253A%252F%252Fwww.netstate.com%252Fstates%252Fmaps%252Fca_maps.htm%3B1488%3B1076
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The subtraction property of inequality
works the same way.

a>b,thena-c>b-c
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Section 3-3
Solving Inequality Using
Multiplication and Division

Multiplication Property of Inequality

with ¢ >0,
if a3 b, then ac(>bc
if a<)b, then agbc

withc< 0
if a>)b, then a (o]
if a@b, then ac(>bc
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Solve:
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Which is the correct graph for each?
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Hwk:
pg. 174-177 #26, 38, 44, 48,
49, 60, 68, 76

pg. 181 - 183
#12-24 (4th), 34-48 (evens),
58, 60
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